Solving Linear Systems by Substitution              Notes: Algebra 2 Unit 3b
	Examples
	Steps
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    solve for x
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                 First solution
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          y = 5

 The solution is written as an ordered pair ( x , y )
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	Find a value for x and y that works in both equations.
#1 Solve one equation for one variable.

#2 Substitute the solution expression into the other equation to solve for one variable.

#3 Substitute the first solution into one of the original equations to solve for the second variable.

#4 Check solutions by plugging into the original system.
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Now You Try It:
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